
$16,8C>82�?98��0.508�>8/��06/203I6C08�74=�*0;-4<<.3>=CC,>8�4856��(9;

!,G8,3708:6,8

$16,8C>82�?98� ,>--H>708��'=)�	��	��.7

 0-08<;,>7�1J;��4/0.3<08���-2;08C>82�C>7��.50;�74=�'=04808�>8/��4.308<:,6=:1H3608

",.3;4.3=64.3

�;08C0�/0<�)8=0;<>.3>82<20-40=0<

�6>;<=J.5<2;08C08

�6>;<=J.5<8>770;8���

�;<=066=�,>1��;>8/6,20�/0;�=0.384<.308�$6,8>82��� �,=>7 ",70

*92=6,8/5;04< )8=0;6,20�";�

�6,==�";�

�,=>7 +04.308

-0,;-04=0=

20C04.380=

20:;J1=

!,G<=,-��	�
��

";� �;=�/0;�D8/0;>82 �,=>7 ",70

47��;04<=,,=�',.3<08

 ,8/<.3,1=<:16020;4<.30��><1J;3;>82<:6,8>82

��!,46��4819�4-6<�/0

 >=30;<=;,G0�	����������#06<84=C�*92=6���

�&���(��()&��>8/��"��"��)&�F&#
 >.580;���'.3463,

�>84�
�
	 $0;<482

 0380;=

	


20:;J1=

20C04.380=

-0,;-04=0=

'0:=07-0;�
�
� !97<08

!97<08�6<=0;;,/@02
�-<.384==�#06<84=C�*92=6�

�,>,-<.384==�������


'.3463,(06������
	��

��
�����,A������
	��
��
�	

 ,8/<.3,1=<:16020;4<.30��><1J3;>82<:6,8>82
�6<=0;;,/@02��-<.384==�#06<84=C�*92=6�

�>84�
�
	

�>84�
�
	

����
�����
	������

(06�����������������	�
�������������
7,46��<,8/;,�797<08�27A�/0��
���$I36

�9.50=,���$I360;�'=;��


����
�����
	������
',8/;,�!97<08

�,>,-<.384==�����


!97<08

	

!,G8,3708:6,8

�,>?0;-9=<C9808�C>7�'.3>=C�?98�*020=,=498<<=;>5=>;08

�<

�<

�<

�<

�<

�<

%;

%;

%;
%;

%;

%;

%:

%:

%:%:

%:

%:

�<

%;

%:

��'=���,2><�<B6?,=4.,

��'=��%>0;.><�;9->;

��'=��%>0;.><�:0=;,0,


�'=��'=0483,>108�����'=���96C3,>108

��7��',8/�048-,>08

	
�'=���4.308<:,6=:1H360���	��'=���48/64820

'0:=07-0;�
�
�

'0:=07-0;�
�
�


